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Part II. Solve the following problems

(20 points)

The electric field component of a beam of polarized light is
E,=5sin(10°z+ot) inV/m
a. What are the waveleng{h, the frequency, the period and the intensity of this light?

b. Write an expression for the magnetic field component of the wave. Parallel to
which axis does the magnetic field oscillate?
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(17 points) _

At a distance of 10 km, a 100 Hz horn, assumed to be an isotropic point source, is barely
audible.

a. What is the power of the horn?
b. At what distance would it begin to cause pain?
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